INSTRUCTION SHEET

L5-DCDZ23
LS DOCUMENT CAMERA DRAWER

DCD23 document camera drawer.
Please read these instructions thoroughly before installing or assembling this product.

* Left or right frame installation to align with wood Kkit.

Thank you for purchasing the L5
» Weight capacity 50 Ibs.

PRODUCT FEATURES
+ 23.5” Depth X 21” Width

THANK YOU
L5-DCD23

Middle Atlantic Products

[-00816

Rev A




IMPORTANT SAFETY INSTRUCTIONS / INSTRUCTIONS IMPORTAANTES SUR LA SECURITE

SAVE ALL INSTRUCTIONS / CONSERVER CES INSTRUCTIONS

WARNING/AVERTISSEMENT and the exclamation point within an CAUTION/ATTENTION and the exclamation point within an
equilateral triangle is intended to alert the user to the possibility of equilateral triangle is intended to alert the user to the possibility of
serious injury or death if the instructions are not followed. damaging or destroying the equipment if the instructions are not

Avertissement et le point d'exclamation dans un triangle équilatéral followed.
est destiné a alerter I'utilisateur de la possibilité de blessures Attention et le point d'exclamation dans un triangle équilatéral est
graves ou la mort si les instructions ne sont pas suivies. destiné a alerter I'utilisateur de la possibilité d'endommager ou de

détruire I'équipement si les instructions ne sont pas suivies.

& WARNING: Failure to read, understand and follow the following information can result in seri-
ous personal injury, damage to the equipment or voiding of the warranty.
AVERTISSEMENT: Ne pas lire, comprendre et suivre les informations suivantes peut entrainer
des blessures graves, des dommages a I'équipement ou de la nullité de la garantie.

& WARNING: Exceeding the weight capacity may result in personal injury or equipment damage.
The combined weight of all components attached to the mount must not exceed weights listed
on page 3.
AVERTISSEMENT: Dépasser la capacité de poids peut entrainer des blessures ou des dom-
mages mateériels. Le poids combiné de tous les composants reliés au support de montage ne
doit pas dépasser les grammages indiqués a la page 3.

i WARNING: Be aware of pinch points and do not place fingers in between moving parts.
AVERTISSEMENT: Soyez conscient des points de pincement et de ne pas placer les doigts
entre les piéces mobiles.

WARNING: Use this product for its intended use and only use attachments recommended by
the manufacturer.

AVERTISSEMENT: Utilisez ce produit pour son utilisation prévue et utiliser uniqguement les
accessoires recommandés par le fabricant.

WARNING: Do not use a damaged product. Return damaged products to a qualified service
center for repair.

AVERTISSEMENT: Ne pas utiliser un produit endommagé. Retour produits endommagés a un
centre de service qualifié pour la réparation.

WARNING: Not intended for outdoor use.
AVERTISSEMENT: Non destiné a une utilisation en extérieur.

WEIGHT RATINGS B

Model Weight Rating
L5-DCD23 50 Ibs. Maximum Total Rated Load

Page 2




REQUIRED TOOLS B

» #2 Phillips Screwdriver
+ 3/8” Nut Driver and Handle (Supplied)

WARNING: Use tools with caution and follow all necessary safety protocols.
AVERTISSEMENT: Utiliser des outils avec prudence et suivre tous les protocoles de sécurité
nécessaires.

SUPPLIED COMPONENTS e

>,
A ;'/
s FZ-
ZZZ ZZZ:
LZZZZ ZZZ:
_gZ7Z7Z ZZZ
ZZZZZZZZZ ZZZ:
ZZZZZ77777. %
S LT P
Jo2Z55Z222Z
ZZ2Z 2222222
S22 22222
S T A A A
Loz
T2z o=z 2
1 Left & Right
Document Camera Slide Set
Drawer (B)

(A)

E:I@ E— (8%) (2%)

10-32 Hex Magnetic (2x)
3/8” Nut Driver & Handle Flange Nut Stop Bracket 10-32 x 3/4”
(C) (D) (E) Truss Head Screw

&

(F)

(2x) (3x)
Clip Nut Inner AVIP Panel 6-32 x 5/16”
(G) (H) Pan Head Screw

(H)

Page 3




DRAWER INSTALLATION OPTIONS

NOTE: For 33" and 43” frames, document camera drawer can be installed into left or right side of
L5 frame to align with wood kit. Camera drawer can NOT be installed on 23” models.

(FIGURE A)

I\ 1= J||
> I—, =) I%I =) I—, G
[e— f— f— — f—) f— f— f— f—) f—3 f—) — ]
| |
o o o
=3 3 © 3 (-]
©) S S Q)
X & S .
X 11k il
X (4x) slide mounting holes for  |° ° (4x) slide mounting holes for °
. camera shelf installed on : o camera shelf installed on :
. left side of frame. . X right side of frame. Z
. (Typical front and rear) . . (Typical front and rear) .
ol . 5 Al
L F . 5 .
© o o e
e\ ] e
] I |_L©

FIGURE A

Page 4




MAGNETIC STOP INSTALLATION B

1. Slide clip nut (G) over hole in frame. (FIGURE B)

2. Place magnetic stop bracket (E) over clip nut. (FIGURE B)

3. Tighten magnetic stop bracket (E) to frame using 10-32 x 3/4” truss head screw (F). (FIGURE B)

4. Repeat process on both sides of frame that shelf is being installed on.

FIGURE B

Page 5




DRAWER SLIDE INSTALLATION

1. Install the slides (B) into the mounting holes and secure in place using (4x) hex nuts (D) on each side
of frame. (FIGURE C)

2. Tighten down using supplied nut driver and handle (C).

NOTE: Slide stop bumpers must face inside
frame when installed.

Frame cut away/
for clarity

(FIGURE C)

Page 6




DRAWER INSTALLATION B

1. To install camera drawer (A), fully extend both slides. Align slides and push drawer onto slides until
they click into place. (FIGURE D)

2. Drawer is equipped with an open position lock. To close drawer, depress both lock levers at the same
time while pushing the drawer closed. Drawer stops are magnetic, and will hold the drawer closed
until pulled open.

3. To remove drawer, extend drawer fully and depress both lock levers while pulling the drawer off
the slides.

4. Refer to wood kit instructions (1-00815) for drawer face installation supplied with your wood kit or
purchased millworkers Kkit.

N Y | e
AN N o 0 0 0 000 o? |
\\\ 0 oo o0 0 y°
\.
TP 1
ISC i N

e ee

__,/)——;) W ® [0 ©
Y

FIGURE D

Press Levers in to
release lock.

Page 7




INNER AVIP PANEL INSTALLATION (OPTIONAL) B
1) Select left or right side installation of inner AVIP panel (H). (FIGURE E)

2) Install inner AVIP Panel (H) to frame using (3x) 6-32 x 5/16” pan head screws (J). (FIGURE E)

Inner AVIP Panel
Mounting Locations

FIGURE E

WARRANTY S

For warranty information, refer to www.middleatlantic.com/terms.

Corporate Headquarters

Corporate Voice: 973-839-1011 - Fax: 973-839-1976 / International Voice: +1 973-839-8821 - Fax: +1
973-839-4982

www.middleatlantic.com - info@middleatlantic.com

Middle Atlantic Canada
Voice: 613-836-2501 - Fax: 613-836-2690 / ca.middleatlantic.com -
customerservicecanada@middleatlantic.ca

Factory Distribution
USA: NJ - CA - IL Canada: ON - BC

At Middle Atlantic Products we are always listening. Your comments are welcome.

Middle Atlantic Products is an ISO 9001 and ISO 14001 Registered Company.
Page 8




